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6.9 T H UT TEAT 36-38 & | A & 3ANT Y & 92T g TOIaT8 TcAh UeT 6 31 T § | Ucddh WA T 3N
200 eTeaT ¥ HTUF G giel QU] WA HEAT 36 HT 3N [GU T IEAT I AT & &l ¢l

General Instructions :

1. The question paper is divided into four sections.

2. There are 38 questions in all. All questions are compulsory.

3. Section A includes question No. 1-20. These are MCQ type questions. As per the question, there can be one answer.

4. Section B includes question No.21-29. These are very short answer type questions carrying 2 marks each. Answer to each
question should not exceed 30 words.

5. Section Cincludes question No. 30-35. They are short answer type questions carrying 4 marks each. Answer to each question
should not exceed 80 words.

6. Section D includes question No. 36-38. They are long answer type questions carrying 6 marks each. Answer to each question
should not exceed 200 words each. Question no. 36 is to be answered with the help of the passage given.



Yus [h)
SECTION A

STel TG 3uTd # fIRTGe A1 & o8 & T § HROT 6 8 -
() derararar & seadt fr S @A (@) -y & arefura

(a1) arferenr RIS @ gedr (a) d=raraeAr A dfcadl f SEHTA ST GR 3UET
Which of the following is not the reason for the decline in the child sex ratio?

(a) Good care of girl babies in infancy (b) Sex-specific abortion

(c) Female Infanticide (d) Severe neglect of girl babies in infancy

HIAFUA(A) : TPfah Fef &I AN FTAREAT T & F dlc9d § e & 3R Fcg &I & &g & 3w

FRUT (R): AAWTETR & Faifdes ey Reuid & ve Reyia 30 Tsifas e Hre ARy
& oH A T B

(@) AR REAT TEr & 3R R, AT TE AT FAT gl

(@) AR R T § AR R, AP TE urEAT FAET FIAT &

() ATE § AfheT R I B

(&) AdTeld & 3R REET &

Assertion(A): The rate of natural increase or the growth rate of population refers to the difference between the birth
rate and the death rate.

Reason(R): Among the most famous theories of demography is the one associated with the English political
economist Karl Marx.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) A'is true but R is false.

(d) A'is false and R is true.

1901 & & e & IS T AT AT §U & Hgeaqur o FifE 5@
SUTAT & 39T Sfa & TTATToS 3fhA & aR F SHAPRT SHedr Hlad Hl Yl HaT =T |
() BEE AE @) e Rarer (@M € 1T (&) gee e

The 1901 Census under the direction of was particularly important as it sought to collect

information on the social hierarchy of caste .

(a) Herbert Shah (b) Herbert Risley (c) Herbert Roy (d) Herbert Singh

HRRYA (A) : TERTARIT Teh VT TishdT & ATH § T8 @1 (IHIR R 7EF AT = ) Sifd &
e fardly 3= onfa (ar snfad) & anffte Rt oe a1 aefors aRarfeat &t
AR 9= ATHTOIR IRAfd FF Fa1 FRa FHI el I & |

FROT (R) : TG S AeE T AT WA AT FT Ioo@ el & AT RAT ST § HeTeh FATEIT Hhr

FA grar A |

(@) AR R TE € 3R R AR TE R I g

(@) A3R ROT TEr § AT R, AT TE ITEAT 8T T ¢

(A1) ATET § AfFT RITAT §I




(&) AdTd g 3R R T &

Assertion(A): ‘Sanskritisation’ refers to a process whereby members of a (usually middle or lower) caste attempt to
raise their own social status by adopting the ritual, domestic and social practices of a caste (or castes)
of higher status.

Reason(R): ‘Dominant caste’ is a term used to refer to those castes which had a small population .

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) A'is true but R is false.

(d) A'is false and R is true.

AT SfgShR & R H A7 & 4T TET © -

(1) wEATo afgsar a8 d-aliss § Sas JRv et safed ar @ it @a7a # @ @@ goa-fAes @
AT AT & F 39T AT GUH @7 ATl g

(2) T afgsdR 3 Ft HRAT W AW elrar § St safad A1 THg ' 37 IJaE 8 afd Fd 8
S iftreRier SierEear & fav g g g

(3) TS AT HTHTHS IT IATIH T F Adl dfod cTAAd ik F 8T gl

(4) FTATSF AEHTT FATST I TAAIcHS [AATATIT HT IROTH g

() had 1

(@) FaT 2

@1) Faer 3

(') 1,2,3 3k 4

Which of the following is true about social exclusion -
(1) Social exclusion refers to ways in which individuals may become cut off from full involvement in the wider society.

(2) Social exclusion focuses attention on a broad range of factors that prevent individuals or groups from having

opportunities open to the majority of the population.

(3) Social exclusion is not accidental but systematic

(4) Social exclusion is the result of structural features of society.
(a) Only 1

(b) Only 2

(c) Only3

(d) 1,2,3and 4

S 3ma Srerarer & TINGA FET ST §, A-cTGE AT HT T AT GioreT
Td gi¥d Uge] &, i U Td HASET T F YUl Td IREUAT & JA W F&H Al ARl S arelt
STl & Fewdl & fa%ets 37cdd HoR ATASS IfEaat (&2h) & faue sar gl

() Uexrdr (@) 3reretrr @M &8 (&) 3HEGRAT

is an extreme and particularly vicious aspect of the caste system that prescribes

stringent social sanctions against members of castes located at the bottom of the purity-pollution scale.

(a) Purity (b) Impurity (c) Punishment (d) Untouchability




39ATE, W9 3T H T W HAGRT & S 9T FoAg A& AU AT AYS WA AW § 3N 3T HAHl A
e, 33y 3ryar fael wasT B

e Uga W TR TS 39dlE A FT Fgd & |

() Sfaare (@ &=arg (@) 39arE (7) HYCRER

Chauvinism itself is an attitude that sees one’s own group as the only legitimate or worthy group, with other groups
being seen - by definition — as inferior, illegitimate and opposed.
What is aggressive chauvinism based on religious identity called?

(a) Casteism (b) Regionalism (c) Chauvinism (d) Communalism

yafaRder 3 vAfARIETAT & dRA 3t A 3a% afXeer sy ar affAe § @, W 39 $o AR wra o
I3 1 oA & a7 A, eATAR9eT 1 Flfd QAT T WiaAe & depe fAqdia gt 6w &
T H RAT AT §1 37 IR, TF YATRUET cTiad AT Ao I8 aIdT g oI fohdll AT & &7 3T UAT &
qolelT # et gl o

e 1T et # AeAff@d # & &l &1 7 82

(1) gAfaRdaTar anffis 3erare &1 A #9 § |

(2) UATATIETAT 1 1 T AT & Uid FAW eI & gAIde giem &, o o 3refana ar gt &7 |

(3) uAfeRdeT HRAT To | wAT F FRRT & AW W Adfas P& ¥ e g

(&) FaT 1 @ &

(@) hadl 2 T &

(3) Shaet 3 T §

(1233 T &

The Indian meanings of secular and secularism include the western sense but also involve others. The most common
use of secular in everyday language is as the opposite of communal. So, a secular person or state is one that does
not favour any particular religion over others.

Which of the following is true in the given context ?
(1) Secularism in this sense is the opposite of religious chauvinism.

(2) Secularism implies equal respect for all religions, rather than separation or distancing.
(3) The secular Indian state declares public holidays to mark the festivals of all religions.
(a) only 1 is true

(b) only 2 is true

(c) only 3 is true

(d)1,2 and 3 are true

uferafiier TR e st @ Aot HT #cdl H A 3R 398 Fergds e fomn smar am e
FauEAAl & fAT TR T 1 YART # S0 7 ASel & HES H HH HAT ST AT
HgAaAfRAF weraes T§ A Told & & -

() ST aTelt T BrIer ggai & forw Al I 3T Asigll &1 I |

(@) ST arell T BrHEr GgaTE & AT Feigyt A Raw § S |

(1) SN aTell Y HIAET Jgate & fAT Aolell T F3 & HT g JAT b el

(6) ST dTell T BIFET GgA & AT FAofeql 1 TRy Fard & S |




The colonial government often used unfair means to hire and forcibly keep labourers. And clearly acted on behalf
of the British planters.
Colonial administrators were clear that -

(a) In order to benefit the planters, laborers should be given good wages.
(b) Workers should be educated to benefit the planters.
(c) Harsh measures were taken against the labourers to make sure they benefited the planters.

(d) Health services should be provided to laborers to benefit the planters.

10

"TRET 8l Hg T FEpCiOT 3Eh TIRUTT B TUET SIfd FERT A 3TEar BT R o S gl
AAITAT IE AT ST & o TEpeiienior Heftia dog &1 i sryar aoreifos ufa & gur § sryar
fegea &1 Hg - WOt 1 Rl G & A1 3HHT HUF Gl § IROTATIRT 36 FHg & 3T Ukl Hl
ST 3IRAT &1 AT WRBT & Tg AT As N TUT & Thal &, PSS #AS & Tl § 7UAT IS AR
arell HYGTT 81 Heh B1"

Ig a% foraeh ganT f&ar = ¥ -
(#) FAe IES (@) ANiear (31) Sog TeRIA (a) P

“the Sanskritisation of a group has usually the effect of improving its position in the local caste hierarchy. It normally
presupposes either an improvement in the economic or political position of the group concerned or a higher group self
- consciousness resulting from its contact with a source of the ‘Great Tradition’ of Hinduism such as a pilgrim

centre or a monastery or a proselytising sect”.

This argument has been given by —
(a) Kumud Pavade (b) Srinivas (c) Indu Prakash (d) Phule

11

Mg HA A Tl AT PR Alhd S srh@E= A, Refr [T &, FRE & FHEIR Ir a1 i A Fa
& 3T e 0 FFarheal @ Tt §1 0 fhaTeRaTdt @ @ar Fea § |
@) P @ o (1) 3P (&) &3

[

Rural residents employed in government services such as the Postal and Education Departments, factory workers, or
in the army, who earn their living through such activities. What are such activities called?

(a) agricultural (b) small (c) non-agricultural (d) large

12

3 § o aRER & agsar @ 30F AANTFT 3cueT == F v g § qur =9
YER F 99X § I3 8 8
(%) FIITRR FYaT THarT (@) FII @M 9= () 3crerafa

are those who are able to produce surplus, over and above the needs of the

family, and so are linked to the market.
(a) Agriculturists or farmers (b) laborer (c) panch (d) industrialist

13

HeNAoT F& TH TUE R STREEd FAA ATl 8| S0 @ Hlef - AT SHAT 30T el ¢ |
(%) YeEnfsat (@) AR Fh
@m sar (7) =X
Industrialisation leads to greater equality, at least in some spheres. Which of the following is not an example of this?

(a) trains (b) cyber cafes (c) buses (d) house

14

HRFUA (A): TS, ¢, BT Wil T Ie0d AR & JUH YIS 3T 9
FROT (R) : TGATAT & ¢ TRHR o NI I GHEGRMM Farsdl | I@r |




(@) AR R & § 3R R AF TE sarEAT W B

@) A3 R TE § AfheT R, AT WE AEAT A& FAT B
(1) ATET § AfFT RITAT &I

(F) ATTad § 3R R T@Er B

Assertion(A): The first modern industries in India were cotton, jute, coal mines and railways.

Reason(R): After independence, the government took over the ‘commanding heights of the economy.’
(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) Ais true but R is false.

(d) A'is false and R is true.

15

THR GIaslfareh HUAr & 39 BEar i @s a7 fir Fufaa) 1 S99 1 93d & B g 59
FgT ST &l
(@) Qe @) fEar (M) FHETT CIREIGER

The government is trying to sell its share in several public sector companies, a process is known as

(a) Investment (b) Expansion (c) Loss (d) disinvestment

16

AASR T HET S gl § HEANRT H1 AT 3@ 3R 38 310 F Faran FEeRi & 3ifes
A & A ol gl &1 ggem Hd & Hel # geftr| quwr AuiRa v a1v @@y & 3curiea avq & &mr
FT qGT ST | AT 3cTeet T qled A el il ¢ W ¥ T o dar el § 3R 3 aeliet
FIHAIRT T TATT o WX &

AT 3R AgTeAT el gt o H AR & fIT WRT AT

(F) IO (@) 3mufAeheor (aN)  EATSRIOT (a1) FRMfreRTor

S

The basic task of a manager is to control workers and get more work out of them. There are two main ways of making
workers produce more. One is to extend the working hours. The other is to increase the amount that is produced
within a given time period. Machinery helps to increase production, but it also creates the danger that eventually
machines will replace workers.

Both Marx and Mahatma Gandhi saw as a danger to employment.

(a) urbanisation (b) modernisation (c) socialisation (d) mechanisation

17

1970 & &3 & ALY # HRd & Al ieleled HT ANART EH | TS ST $H HRAY Higell et
1 gET &R Fed § | e agd @ R 36 ghR Selt W, R o Forereaeh 0ehfa qur faraRuriai
et # aRade g3 | T Afger 3ielel Hg S arel 3ieleredt 7 Jefd 3 |

'FATIT ' TeE 3H dLT HT AR Hohd AT TR 3 AR Heroal & s Uelifad gol & d9U ¥, ¥ Few
TE 3YaT Tstelideh ol ¥ FaaT oA |

(F) ATERT (@) 3rferamdt (31) HAFRT (a) FaremEr

In the mid —1970s, there was a renewal of the women’s movement in India. Some call it the second phase of the

Indian women’s movement. While many of the concerns remained the same that there were changes both in terms of
organisational strategy, as well as, ideologies. There was the growth of what is termed as the autonomous women’s
movements.

The term ‘autonomy’ referred to the fact that they were or independent from political

parties as distinct from those women'’s organisations that had links with political parties.

(a) government (b ) executive (c) rights (d) autonomous




18

fAFYA (A): T 2000 H AT WER ¥ FIC FX TATAT IAT RS ARA & AG-lAfAd TodT H F T gl
FROT (R): 3H AT T TAYAT & NS FT 3fagrd Teh Ty & 31+ 1 gfaer g

(@) AR R T& & 3R R A TE suTEAT T ¥

@) AR REAT T & AfFT R, AT T cuTEAT AET AT B

(@) AT & AfFA R B

(&) AT § 3R R T T

Assertion(A): Jharkhand is one of the newly formed states of India, carved out of south Bihar in the year 2000.
Reason(R): Behind the formation of this state lies more than a century of resistance.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) A'is true but R is false.

(d) A'is false and R is true.

19

TAGYH FAleY HY &I FA9AT 34 1918 & St & v e #iedar AR
RArAhehel ARITIET & 68T & o & |

(@) . Ot gz (@) & 9. @A (1) &, o, arfsar (a) &t 9. &g

The first trade union was established in April 1918 in Madras by , a social worker and member of the

Theosophical Society.
(a) B. P. Pandey (b) B. P. Sharma (c) B. P. Wadia (d) B. P. Singh

20

HRFUT (A): Tew HT T 7 IafAaREs WER w1 Asigy & 9fd sgagr 7 3 ad& w0 &
FROT (R): Tl 1922 FH WHR o AT dRAEEAT dfaAgw aRa fFar o 17 36 & get & geax 5
e H T |

() AR R T & 3R R AFr TE sTrEAT FAT B

(@) A3 REET TEr § AT R, AT TEY cTTEAT FAET T B

(1) ATE § AfFT R B

() AT § 3R REE &

Assertion(A): The formation of the AITUC made the colonial government more cautious in dealing with labour.

Reason(R): In 1922 the government passed the fourth Factories Act which reduced the working day to 5 hours.

(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Ais true but R is false.

(d) Ais false and R is true.

gus [™]
SECTION B

21

SAHEAT faTPe g9 & $HRUT §d17 ?

Give reasons for 'Population Explosion'?

22

WfPF IR TREf@As & 39 Fr gEEa § 2

What do you understand by 'Pandemic' and 'Epidemic'?




23

RA F fhedl IR FASTaAl & ATH IdIST |

Name any four tribes of India.

OR

1970 & g2 Th JATA-3TcT, STefoniicl st @t yog@ gRemwTd awqet fewrs o oefi| Ig ewfar arr &
STeTSiic 3R F9h G & @ fhaT I e’ FAT 9 & 3UATS 15 HANCARITHR JUFRIT, U3
AR i & @t A & foredr st FaEld W @ 7@ 3a3ar|

Sl & fFa aRE & IA F 39T formr 2

By the 1970s all the major definitions of tribe were shown to be faulty. It was pointed out that

the tribe-peasantry distinction did not hold in terms of any of the commonly advanced criteria: size, isolation, religion,
and means of livelihood.

What kind of profession did the tribes adopt?

24

FAASTAT FAEIT T Gell HTETE aTed aieh &1 AR Tt HF AFrd & garg & FRoT IR AT et &
YT FEAT F AT (I THA) T FAET F 3 SET U5 W 21 SN AT T & Dot et
gl 3R qEdr FEpfadl & gt 8 S & WeT YeT g I g

AT Ferat & feet-ffest g & aF 3ameor § |

Many tribal concentration regions and states have also been experiencing the problem of heavy in-migration of non-
tribals in response to the pressures of development. This threatens to disrupt and overwhelm tribal communities and
cultures besides accelerating the process of exploitation of tribals.

Give two examples of disruption of tribal communities.

OR

‘gao SIfd’ AT § 2 99T SIfad & & 3SeI0T ¢ |

What do you understand by 'dominant caste' ? Give two examples of dominant caste.

25

JefE anror (Sgsfcadsaee) ¥ 3T F1 FAST & ?

What do you understand by Deindustrialisation?

26 | 3w wATS @ fadware F=ar § 2
What are the characteristics of Industrial society?
27 | GATS GURHI o et ATETAT & 39T dre - fare Sy @ |
Through what mediums did the social reformers continue their debate?
28 | sgfaate & fRETH AT I GFAIT F FT JeTd STl ?
What effect did the resolution brought against polygamy have?
29 | 'gHFHS Holgl @ 1Y FAT FHSA & |
What do you understand by 'footloose labour'?
OR
Wider G forer wR fREmet & fow it srgeeT o a STl § 2
How does 'contract farming' lead to greater insecurity for the farmers?
gus [d1]
SECTION C
30

AU & SHEAT 9o & fcuid f f@adwer ffaw |

Discuss Malthus's theory of population growth.

OR

AAAITETRT FHAT &1 fAeyid a1 o1 ? TFFaR § Farv |

What was the theory of demographic transition? Explain in detail.




31

S cTaTAT Teh FOR ygEAqT § | feraut &1 |

The caste system is a rigid system. Comment .

32

sfat 3R Sefadl & gfa dgwra fAee & fav U 3R 37 rsHl garT 391U AT FeH -4 ¢ ?

What are the steps taken by the state and other organisations to eradicate discrimination against castes and tribes?

33

et ¥ waRud T3 AEEl W At a2

Discuss the major issues related to Adivasis?

34

FAERY T8 3R AhdacHs o H HR TASE HL ?

Explain the difference between Authoritarian state and Democratic state?

OR

USE Teh 37(S fohed &1 TS gl & e auiel df 3mare @ o 38 aRend &t S i § ?

A nation is a peculiar sort of community that is easy to describe but why it is hard to define ?

35

'eUTETS FIAT BIdT § ? HoITEIR I Tod F FI&UT T TaTSdT FAT 8lar § ?

What is a ‘minority’? Why do minorities need protection from the state ?

gus [9]
SECTION D

36

gRa Hifd & TUH =0T, 1960 TUT 1970 F Ghi & , 7 dehelleh & o] gll § 0T AT H
IHATAAT =t T 3 g3 gRA Hifd H wael 31MF a7 aren A FifF S8 3F Sewest gar
ar| 3= I Feufa arer frarer fSerss o S, 4N, aeeltes dum Seet & @or st /¢ et 3R
el # 4T 9 Hhd A, T HIAT IcUesT d¢f AR 3w GAT HAT FF

HRA # gRa Hifd dUT $8& AHITSS JHET W Fdl HfAT |

In the first phase of the Green Revolution, in the 1960s and 1970s, the introduction of new technology seemed to be
increasing inequalities in rural society. Green Revolution crops were highly profitable, mainly because they yielded more
produce. Well-to-do farmers who had access to land, capital, technology, and know-how, and those who could invest in
the new seeds and fertilisers, could increase their production and earn more money.

Discuss the Green Revolution in India and its social effects.

37

3ERIHIOT & SR & SfadAET &1 fFg JR genfaa fomar & 2

How has liberalisation affected employment patterns in India?

38

HRA A Qe TUTAT HANSR ieleladl H TS A HEA ot § | Tl HIfAT |

In India it is difficult to make a clear distinction between the old and new social movements. Discuss.

OR

Y T ofd fhamE el & HET IR darsy |

Distinguish between peasant and New Farmer’s movements.




